Annex B

## TECHNICAL SPECIFICATION ICT Office Supplies

I. ITEM SPECIFICATIONS AND COST ESTIMATE

ITEM	QTY	UNIT COST	TOTAL COST	SPECIFICATIONS
Ink Cart, 001, for Epson L6160/190, 001 Black	5	510.00	2,550.00	<ul> <li>At least 127 mL</li> <li>Must have a genuine seal</li> <li>Best before is indicated in the bottle</li> </ul>
Ink Cart, 001, for Epson L6160/190, Cyan	4	340.00	1,360.00	<ul> <li>At least 70 mL</li> <li>Must have a genuine seal</li> <li>Best before is indicated in the bottle</li> </ul>
Ink Cart, 001, for Epson L6160/190, Magenta	4	340.00	1,360.00	<ul> <li>At least 70 mL</li> <li>Must have a genuine seal</li> <li>Best before is indicated in the bottle</li> </ul>
Ink Cart, 001, for Epson L6160/190, Yellow	4	340.00	1,360.00	<ul> <li>At least 70 mL</li> <li>Must have a genuine seal</li> <li>Best before is indicated in the bottle</li> </ul>
Ink Tank, GI 790 for Canon G2010/ G4010, Black	6	560.00	3,360.00	<ul> <li>At least 135 mL</li> <li>Must have a genuine seal</li> <li>Best before is indicated in the bottle</li> </ul>
Ink Tank, GI 790 for Canon G2010/ G4010, Cyan	5	470.00	2,350.00	<ul> <li>At least 70 mL</li> <li>Must have a genuine seal</li> <li>Best before is indicated in the bottle</li> </ul>
Ink Tank, GI 790 for Canon G2010/ G4010, Magenta	5	470.00	2,350.00	<ul> <li>At least 70 mL</li> <li>Must have a genuine seal</li> <li>Best before is indicated in the bottle</li> </ul>
Ink Tank, GI 790 for Canon G2010/ G4010, Yellow	5	470.00	2,350.00	<ul> <li>At least 70 mL</li> <li>Must have a genuine seal</li> <li>Best before is indicated in the bottle</li> </ul>
Toner Cartridge, HP 26A	3	9,800.00	29,400.00	<ul> <li>Color: Black</li> <li>Must have a genuine seal</li> <li>Best before is indicated in the box</li> </ul>

## II. Delivery schedule

• Delivery shall be within Sixty (60) Calendar days.

#### III. PAYMENT TERMS AND CONDITIONS

• One-time payment shall be made upon completion of the supply and delivery of ICT office supplies subject to submission of Sales Invoice/Delivery Receipt.

Prepared by:

RHODORA R. CONCEPCION
Procurement Coordinator, AFD

Noted by:

LOURDES C. BONIFACIO

OIC, AFD

Item Description	Technical Specifcations	Quantity	Unit
Ink Cart 001 for Epson - Black	-Must be compatible with EPSON L6160/L6190 - Ink must be sealed -Best before is indicated on ink -At least 127 ml	8	unit
Ink Cart 001 for Epson - Cyan	-Must be compatible with EPSON L6160/L6190 - Ink must be sealed -Best before is indicated on ink -At least 70 ml	5	unit
Ink Cart 001 for Epson - Magenta	-Must be compatible with EPSON L6160/L6190 - Ink must be sealed -Best before is indicated on ink -At least 70 ml	5	unit
Ink Cart 001 for Epson - Yellow	-Must be compatible with EPSON L6160/L6190 - Ink must be sealed -Best before is indicated on ink -At least 70 ml	5	unit
Cartridge Ink for Epson - Matte Black	-Must be compatible with EPSON SureColor SC-T5270 - Cartridge ink must be sealed -Best before is indicated on cartridge ink -At least 110 ml -Must be T6925	12	unit
Cartridge Ink for Epson - Photo Black	-Must be compatible with EPSON SureColor SC-T5270 - Cartridge ink must be sealed -Best before is indicated on cartridge ink -At least 110 ml -Must be T6921	3	unit
Cartridge Ink for Epson - Cyan	-Must be compatible with EPSON SureColor SC-T5270 - Cartridge ink must be sealed -Best before is indicated on cartridge ink -At least 110 ml -Must be T6922	9	unit
Cartridge Ink for Epson - Magenta	-Must be compatible with EPSON SureColor SC-T5270 - Cartridge ink must be sealed -Best before is indicated on cartridge ink -At least 110 ml -Must be T6924	9	unit
Cartridge Ink for Epson - Yellow	-Must be compatible with EPSON SureColor SC-T5270 - Cartridge ink must be sealed -Best before is indicated on cartridge ink -At least 110 ml -Must be T6923	9	unit

Prepared by:

ENGR. MARK LESTER L. NATIVIDAD
Alternate Procurement Coordinator, EPDSD

Reviewed by:

ENGR. NOEMI L. CARPIO Chief, EDPSD

Item Description	Technical Specifcations	Quantity	Unit	
Cartridge Ink for Epson - Matte Black	-Must be compatible with EPSON SureColor SC-T5270 - Cartridge ink must be sealed -Best before is indicated on cartridge ink -At least 110 ml -Must be T6925	6	unit	
Cartridge Ink for Epson - Cyan	-Must be compatible with EPSON SureColor SC-T5270 - Cartridge ink must be sealed -Best before is indicated on cartridge ink -At least 110 ml -Must be T6922	5	unit	
Cartridge Ink for Epson - Magenta	-Must be compatible with EPSON SureColor SC-T5270 - Cartridge ink must be sealed -Best before is indicated on cartridge ink -At least 110 ml -Must be T6924	5	unit	
-Must be compatible with EPSON SureColor SC-T5270 - Cartridge ink must be sealed -Best before is indicated on cartridge ink -At least 110 ml -Must be T6923		5	unit	

Prepared by:

ENGR. MARK LESTER L. NATIVIDAD
Alternate Procurement Coordinator, EPDSD

Reviewed by:

ENGR. NOEMI L CA



Republic of the Philippines Department of Agriculture

## BUREAU OF AGRICULTURAL AND FISHERIES ENGINEERING (BAFE)

Sugar Center, Annex II Building Extension, North Avenue, Diliman, Quezon City Tel Nos. (02) 8351-8120, 8294-9741

Email add: bafe@da.gov.ph

## **TECHNICAL SPECIFICATIONS**

# SUPPLY, AND DELIVERY OF VARIOUS ICT OFFICE SUPPLIES (SPECIFICATIONS AND COST ESTIMATES)

DESCRIPTION/ PARTICULARS	QTY	UNIT COST	TOTAL COST
LOT 1: INK SET  • Genuine Ink Bottle (INK CODE 008) for printers Epson L15150/L15160  > Black 120ml  > Cyan 70ml  > Magenta 70ml  > Yellow 70ml	20 10 10 10	1,108.00 907.00 907.00 907.00	22,160.00 9,070.00 9,070.00 9,070.00
<ul> <li>Supports Full HD, 4K, and 3D Resolution</li> <li>Gold-Plated Connectors</li> <li>Aluminum-Mylar Foil with Braid Shielding</li> <li>Supports resolutions up to 4K @ 60 Hz</li> <li>Supports CEC (Consumer Electronics Control) functions</li> <li>Up to 18 Gb/s bandwidth</li> <li>Supports HDR (High Dynamic Range) for enhanced contrast ratio and color accuracy</li> <li>At least 10 meters length</li> </ul>	10	2,750.00	27,500.00
<ul> <li>CARD READER</li> <li>SD Slot: Support UHS-I (SD, SDXC, SDHC, RS-MMC)     TF Slot: Support UHS-I (Micro SD, Micro SDHC,     Micro SDXC)</li> <li>USB 3.0 standard, support speeds up to 5Gbps</li> <li>Plug &amp; play, no driver installation required</li> <li>compatible with Windows XP/Vista/7/8/8.1/10,     Mac OS, Linux, Chrome OS</li> </ul>	25	1,325,20	33,130.00
TOTAL			Php 110,000.00

Prepared by:

ULIÙS ABE S. PERALTA

Procurement Coordinator, PKMD

Approved by:

ENGR. ARNEL L. TENORIO, En.P

Interim Chief, PKMDD

		NICAL SPECIFICATIONS	
PARTICULARS	QUANTITY and UNITS	TECHNICAL SPECIFICATIONS	SAMPLE PHOTO
1.) Printer Ink (Epson L6190/L14150)	10 bottles	-Compatible for Epson L6190/L1450 -With 7 days replacement -Color Black	EPSON STORING TO THE PROPERTY OF THE PROPERTY
2.) Printer Ink (Epson L6190/L14150)	10 bottles	-Compatible for Epson L6190/L1450 -With 7 days replacement -Color Magenta	OFFICIAL STORE EPSON OOT OOT OOT OOT OOT OOT OOT OOT OOT O
3.) Printer Ink (Epson L6190/L14150)	10 bottles	-Compatible for Epson L6190/L1450 -With 7 days replacement -Color Cyan	OFFICIAL STORE Letter Workshop
4.) Printer Ink (Epson L6190/L14150)	10 bottles	-Compatible for Epson L6190/L1450 -With 7 days replacement -Color Yellow	OFFICIAL STORE  EPSON  OO1  FPSON  FP
5.) Printer Ink (Canon G4010)	6 bottles	-Compatible for Canon G4010 -With 7 days replacement -Color Black	CAILOR  WINDLE STEERSON  PIXMA  CAILOR  BX  T90  BX  GENUINE Water Names

6.) Printer Ink (Canon G4010)	6 bottles	-Compatible for Canon G4010 -With 7 days replacement	
,		-Color Magenta	Саноп
			PIXMA
			Canon
			790 M G 990(M) L M G 190(M) L M
			GENUINE Mode or Japane
7.) Printer Ink (Cyan for Canon G4010)	6 bottles	-Compatible for Canon G4010 -With 7 days replacement	
		-Color Cyan	Canon  Series properties  Acron properties
			PIXMA
			Canon
			790 C SINUTE  GENERAL MARKET
8.) Printer Ink (Canon G4010)	6 bottles	-Compatible for Canon G4010 -With 7 days replacement	<u> </u>
		-Color Yellow	Canon
			PIXMA
			Canon
			790  W 256(7)  W 256 (7)  W 256 (

Prepared by:

ENGR. ABIGAIL BARREDO Procurement Coordinator

## **TECHNICAL SPECIFICATIONS**

ITEM	QUANTITY	UNIT	PROPOSED SPECS
External Hard Drive	8	pcs	<ul> <li>At least 2 TB Capacity</li> <li>With Hard Drive Interface: USB 2.0/3.0</li> <li>Data Transfer speed of 120 MB/s or better</li> <li>With Aluminium enclosure</li> <li>Compatible with Mac/Windows OS</li> <li>Maximum Weight: 175 grams</li> <li>With free compatible cable</li> <li>With inclusion of compatible cover/case</li> <li>Portable</li> </ul>

Prepared by:

ENGR. FRANCIS GLENN M. MIRO

Permanent Procurement Coordinator, SRED

ENGR. DJAYA C. ASTILLLA

Alternate Procurement Coordinator, SRED

Noted by:

ENGR. MARK TWAIN A. LIMBO

Engineer III, SRED